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QID : 101 - In the following question, select the related word from the given alternatives.
Ostrich : Bird : : Crocodile : ?

Frmforfrr s o Frer e Fresit 7 wisifiey srer w1 g
LeetURR LSRR L ce FR

Options:

1) Reptile

T

2) Rodent

Ll

3) Swim

oy

4) Water

T

Cormrect Answer: Reptile

Candidate Answer: Reptile
T

QID : 102 - In the following question, select the related letters from the give | alber na.ves.
NOTE : QLWB : : HEAP : 7

Frerferfiwy ma % Farr mor Frpet & 91 swifiey st o g

NOTE : QLWB : : HEAP : 7

Candidate Answer: KEDM

QID : 103 - In the following aues. an, . ~'ect the related number from the given alternatives.
5:45::12:7

Fraforfarry ma 4 Frrr my Frreat & & wifiey st w1 gfm

5:45::12:7

Options:

1)32

2)49

3)62

4) 108
Comrect Answer: 108
Candidate Answer: 108

QID : 104 - In the following question, select the odd word from the given alternatives.



Options:
1) Cup

T

2) Plate

I

3) Spoon

v

4) Food

AT

Comect Answer: Food
e

Candidate Answer: Food
il

QID : 105 - In the following question, select tha odd letters from the given alternatives.

Frafrfirs mr % P o Bt & 7 By ot w1 gm0
Options:

1) GNUB

2) DKRA

3) AHOV

4)FMTA

Cormrect Answer: DERA

Candidate Answer: AHOV

QID : 106 - In the following question, select the odd number pair from the given alternatives.

Fraferirs mr & Fr mr et 7 9 frr s g e giEm
Oplions:

1)9-72

2)12-132

3)10- 90

4)5-30

Cormrect Answer: 5 - 30

Candidate Answer: 5 - 30

QID : 107 - In the following question, salect the odd number pair from tha = sen alternatives.

Fraferfir wr % Fr m Rt & 71 Frrs sy g o i@ m
Options:

1)6 - 218

2)5-127

2N 3-27

4)4-66

Comect Answer: 3 - 27

Candidate Answer: 3 - 27

QID : 108 -
How many triangles a2 in~ 2 in the given figure?

& v sl # o ¥ T ¥



Options:
1)3

2)4
3)5

46
Cormrect Answer: 4
Candidate Answer: &

QID : 109 -
How many ractangles are there in the given figura?

& 1§ nghy # e amma 2

Options:
1)45

2) 60
3)48

472
Comrect Answer: 60
Candidale Answer; 60

QID : 110 -
How many surfaces are there in the given fig ire?

& oE ety 3 Tl waT &2

i

Options:
1)7

2)8
3)0

4)10
Correct Answer: 10
Candidale Answer: 7



QID : 111 -
In the given figure, what will come opposite to face
containing ‘a’?
& oyl # ¢ IF wew F Rudm T
HRET?

#]
a
<]
[}
5]

Options:
1)n
2)5
3y
4)p
Cormrect Answer:

Candidate Answer: 5

QID :112-
From the given answer figures, select the one ir
which the question figure is hidden/fembedded.

& 7% 3aY Imptadt A ¥ 3H IE WG A gHT
B & oy arfa BRa #




Options:
1)

2)

3)

4)

Cormrect Answer:

Candidate Answer:

QID : 113 -
A piece of paper is folded and punched as shown
below in the question figures. “rem the given
answer figures, indicate how .. vill appear when
opened?

T F Uy gl ¥ W IRER FeS &
H=wT Fe FW W F a1 a7 OFw =T gl
S femd game




Options:
1

2]

3

4

o |

i
z
i

=

Candidate Answer:

=

QID : 114 -
If 2 mirror is placed on the line AB, ti an which of the
answer figures is the right mirror . nase of the given
figura?

Iy UF T W AB “w vy T@T S, ar & o
37 Higadl # ¥ 5w @ HWgy uy HgE @
T gauT uiafaer geire

>

wa il

w



Options:
1)

£

L

i

3

g,

|2

B

z
:

P

Candidate Answer:

P

QID : 115 -

In the fellowing question, select the nur-ber which
can be placed at the sign of ques-i. ~ mark (7?) from
the given alternatives.

foeafefaa wy & v o Tawsar & & uy g
(7) & T OT ¥ Voo WE@ @ g

(3] [ 4] X
(A2 7] [Z]323] [Z[2]3]
[ 5] 8 5
Options:
1) 59
Z)63
3) 69
%) 79

Correct Answer: 59



QID : 116 - From the given altematives, select the word which CANNOT be formed using the letters of the given word.
RESPIRATION
Fraferfi Rt 3 # 97 s ST A R v F wae w1 90T S AT S AT A

RESPIRATION

Options:

1) PIRATE

2) SINE

3) POSTER

4) RIDER

Cormrect Answer: RIDER

Candidate Answer: RIDER

QID : 117 - Identify the diagram that best represents the relationship among the given classes.
Ball, Bat, Gloves
=g arrer R A Ay o it i ot s A R e

e, T, T
Options:

00
O

2)

3)

4

—
O 5

OO
O




QID : 118 -
In the given figure, how many cups are blue but not
bottles?

& e st A, e ww AR ¥ wg Amw a6

Bottle /
CInE

/05 /S \\28 N

T

Cup/
Fq
Options:
1)97
2) 109
3)28
4) 68

Cormrect Answer: 97
Candidate Answer: 97

QID : 119 - In the following question below are given some st.®me s followed by some condusions, Taking the given statements to be true even if they seem to
be at variance from commonly known facts. Read all the conclus =~ «ad then decide which of the given conclusion legically follows the given statements.

Statements:
1. Some green are white.
1. Some yellow are green.

Conclusions:
I Some white are yellow.
1. Some green are yellow .

A o oo e o g Ty e T e Tt T s g Pt B e ) B o et w0 e s, g e mreres s et 7 R gn mft Preed o o R
Fratfrer % B e e i 97 P, & e e gt o e e g 1

L LH

Lysrrmesh

Iy fr g 4

Frew:

1. g e e

I gmerdm #

options:

1) Only conclusion (1) follews,

v P (1) 7t B

2) Only conclusion (II) follows,
T Pt (1) ot 31

3) Both condusion follow.

4) Neither conclusion (I) nor conclusion (IT) follows.
1 A7 e (1) = 4 Froed (L) ot &

Farmard Ancssars Mnk rancheinn (TT Slbwe



Candidate Answer: Only conclusion (II) follows.
ey et (1) ot £

QID : 120 - In the following question below are given some by some Taking the given statements to be true even if they seem to
be at variance from commonly known facts. Read all the conclusions and then decide which of the given conclusion logically follows the given statements,

Statements:
L All tables are vehicles.
1II. No vehide is truck.

Conclusions:
1. Some trucks are tables.
1I. All vehicles are tables.

Hr=y frr iy ey W W e T AT T AT o At g ey f o ) F ar s o w we, Sy e wrerer e e o feear gn andr et oF o o
it w7 fr e w7 3 P, fer oo st & amare e T

Y
1, it s i £
IL. s s 2% =i

e

L= zw i
1L, ot mrfeen & 1

Options:

1) Only conclusion (1) follows,

T et (1) w30

2) Only conclusion (1I) follows.

A fereed (1) wrft 21

3) Both condusion follow.

=T 7t Frt ot §)

4) Neither eonclusion (I) nor canclusion (I1) follows.

= B (1) = & ﬁ-nni(ll) 'n@' o

Comect A sion (L) nor lusion (II) follows.
o A1 e (1) nf(ﬁuﬂim)w@tu

Candidate Answer: Neither conclusion (I} nor conclusion (IT) follows.
7 A7 P (1) = ff P (11) 7 &

QID : 121 - Jis the son of T. T is the mother of F. L is the son of T. He© L g . -"ated to J?

L, T T, Fofrsmar L, T e dn L, D o Py e siwifiey 32

options:
1) 5un

™

2) Brother
wTE

3) Father
o

4) Unde

=r=r

Correct Answer: Brother
wTE

Candidate Answer: Brother

QID : 122 - Fointing towards a boy, a lady said, "That boy is the brother of my husband’s only daughter’s daughter." How is that lady’s son related to that boy?

e s S S e e g, v i A g, g e w b o rewme gt o it o e e wiRem w g e oo o e e wafie
Options:

1) Father

o

2) Unde

wTHT

2) Brother

AT

4) Son

™

Comect Answer: Uncle
AT



QID : 123 - If Pis 200% of Q and R is 400% of Q, then R is how much percent more than P?

af¥ P, Q 7 200% # =T R, Q ¥7400% %, 7T R, P 71 frmry affvrs afirr 87
Optlions:

1) 250

2) 200

3) 50

4) 100

Comrect Answer: 100

Candidate Answer: 50

QID : 124 - Ratio of the present ages of Mohan and Ram is 3 : 5 and the difference between their ages is 12 years. What is the present age (in years) of Ram?

WTEA T TR T SR AT W ST 3 5§ T A F ofr e sm 12 nd dnore ofr e v () e
Options:

1) 30

2)20

3) 18

4)32

Correct Answer: 30

Candidate Answer: 20

QID : 125 - In the given guestion, there are four figures given out of which three are similar in some manner and one is ne '~ "ne others. Select the figure which
is odd one out.
e v ey &, S wrptEt ik # et A fefr o e s o e § e o e fee i) P aefEr s Sfae

Options:
1)

O

A
()
©

Correct Answer:

©

Candidate Answer:

©

QID : 126 - In the given question, there are four figures given out of which three are similar in some manner and one is not like the others. Select the figure which
is odd one out.

oy o ey H, e wpTEe # ot § s o e Geft oo ap & s o e F svar o s fir &1 Far vt o gm0

3)

4




QID : 127 - In the given question, there are four figures given out o #* ch  ree are similar in some manner and one is not like the others, Select the figure which
is odd one out.

o o ser , Sty srptEe & owd # Pt # < feeft oo apr i e e e g Ay o e B g Fee gt o gfAm
Options:

A

2)

3)

4

D | S|«




Comrect Answer:

<0

Candidale Answer:

<0

QID : 128 - In the following question, select the missing number from the given senes.

19,21, 25,31, 39,7

Frmforer o % o mr et § f 7 9% e v
19,21, 25,31, 39,7

Options:

1) 62

2)53

3)59

4)49
Correct Answer: 49
Candidate Answer: 49

QID : 129 - In the following question, select the missing number from the given series.
11,9, 20, 29, 49, ?

Frafafary mr  fm m Pt 5 57 oy s wwy it

i1, 9,20, 29, 49, ?

Oplions:

1)78

2)02

3)58

4)62
Comedl Answer: 78
Candidate Answer: 78

QID : 130 -
In the following ques*on selecl the figure which can
bhe placed at the : 'wn a1 question mark (7) from the
given alternatives.

Eeatefaa wy & B o Bwedr F 4 oy BE
(?) & TUTT UT HE ATeN HWIHS # AT

~ 0 3 ~ 10




Options:
1)

o°¥v

3)

4)

QID : 131 -
In the following question, select the { aure which can
be placed at the sign of question n21% (?) from the
given alternatives.

ot wa # R o fawedl & @ uw fg
(?) & ¥ W A Tlel HGA @ gl

K&NX@ ?




Options:
1)

3)

4)

O

Correct Answer:

A

Candidate Answer:

A\

QID : 132 -

In the following question, select the “gure which can
be placed at the sign of question ~a % (7) from the
given alternatives.

PR or & B o Roeat & & oy B
(7) & FUR 9T ¥ N AFA @ T

SRR RS




Options:
1)

M o
N

2)

L%
"

3)

™
2%

4

LY 4
Pl

Correct Answer:

W
7N

Candidate Answer:

w /
AN

QID : 133 - In a certain code language, "LEAD" is written as  #937 and "TAIL" is written as "5384". How is "DATE" written in that code language?

e Frfire e 9T #, "LEAD” 7 "4932" 77 "TAIL" ¥ "S3E€4" v wraT #1 T T 9w # "DATE” ¥ frer s e o
Options:
1) 9352

2)2359
3) 5832

4) 4893
Cormrect Answer: 2359
Candidate Answer: 2359

QID : 134 - In a certain code language, "FUEL" is wrillen as "48" and "LAND" is wrilten as "35". How is "TORN" written in that code language?
o T o W #, “FUEL" T " 48" a1 "LAND" %7 " 35" ferar wrew 1 T vy Wrar 7 “TORN " %7 fer s ey s

Options:

1)70

2)67

3)71

4) 68
Cormrect Answer: 71
Candidate Answer: 70



QID : 135 - In a certain code language, "GLASWOOD" is written as "JIDPZLRA". How is "PROBLEMS" written in that code language?

r Farfre % i %, "GLASWOOD" %7 "JIDPZLRA" fram wr=w #1 T wrr wrw # "PROBLEMS" w7 frey wr ey sroomr?
Optlions:
1) TOQXPBOO

2) SNRZOAQQ
2) SORYORPP

4) TNSXNAPP
Correct Answer: SORYOBPP
Candidate Answer: SORYOBPP

QID : 136 - What is the meaning of fixed overhead costs in Economics?

T H e 3T AeE 1w el g

Options:

1) Costs which do nat vary with input

T Wl (T W AT A e A e

2) Costs which do not vary with demand

T AT T e AT E

3) Costs which do not vary with cutput

TR (W) F AT o wEw wwe

4) Costs which do not vary with supply

AT ¥ AT 7 e =t e

Cormrect Answer: Costs which do not vary with output
TEATEA (ATIEE) F AT A WO AT A

Candidate Answer: Costs which do not vary with demand
WIA & AT 7 AIOA AT ETA

QID : 137 -India's _______ revolution is a dramatic example of how the input of greater knowleloe in the form of imp pr gies can rapidly
increase the productivity of scarce land resources.

e FiFH e A= Tgew § 9 S T drathfe = 6wl i1 e e s P e it st i e A i T s aew i
Options:
1) Green

2) Information Technology
ey

T
3) Blue

AreT

4) White

=

Correct Answer: Green
i

Candidate Answer: Green

s

QID : 138 - Which among the followliig WoHls NOT considered in calculating national ?

et & 7 e S 7 T At # T A A 17
Options:
1) Selling of agricultural produce
T AT AT
2) Warking in Education Instibrtions
forar steaT W AT
32) Household work by women
WPl =TI W T
4) Working in Information Technology industry
F=AT ST T T
Cormrect Answer: Household work by women
wfgen sl g s sl

Candidate A

id work by women



QID : 139 - Fair price shops keep stock of which of the following?

1. Food Grains
IL Sugar
IIL Kerosene Oil

o g gt Praferfee o & Rerer S ot 7

L =rarT

IL =t

IIL. fordy w7 #or
Options:
)only I
FHTl

4)AIlL, I & [T

I, IT =< 10T =i

Correct Answer: All [, IT & 11T
1, I =rar 101 =t

Candidate Answer: AT, TT & 11T
1, [T =var 11T #rft

QID : 140 - is a politcal association occupying a definite terntory, which has an organized govern—enL < *d p. sesses power to make domestic and foreign
policies.
T FARA G T Ay AT T TR w i T o i e gt § e st ey S o it s whieee e

Options:
1) Territory

a

2) Province

o

3) Tehsil

e

4) State

e

Correct Answer: State
eT

Candidate Answer: Province
atT

QID : 141 - is a malpractice by which a party or a eandidate gets indulged to increase its votes.

o ey T 7 e wey g o A et ST e o7 Wy F o avrw dr
Options:

1) Turnout

=TT

2) Rigging

it ]

3) Deceit

=T

4) Incumbency

by

Correct Answer: Rigging

frfenr

Candidate Answer: Incumbency
B

QID : 142 - Which article of Indian Constitution gives definition of money bill?

wredie AT 1 ST o s we Frds it afosn 2= 22
Options:

1) Article 56

wuT 56

2) Article 110

7T 110

3) Article 72



Comrect Answer: Article 110
sy 110

Candidate Answer: Article 110
AT 110

QID : 143 - Under which condition/conditions a member of parliament can be disqualified?

1. If he holds office of profit under Government of India.
IL If disqualified by any law.
IIL If he is an undischarged insolvent

firer feafoyfrmfirdt & si=ptr wivre a7 o ey i e o w27

L. A g WY AT ST O W O S S )
IL af® faeft o gy =y s iy far Amm
111 =f* =17 sy femrferT I

Options:

1) Only [

e [

2)Only I and II

ey [ v 11

3) Only II and III

= 11 o I

4) AllL, I and I

it I, II 7 11

Cormrect Answer: All 1, 11 and L1

T I, L1 ==L

Candidate Answer: All I, I and III

aft I, I v 1T

QID : 144 - What was the old name of Allshabad?

2) Avantika
AT

3) Patliputra
TrET

) Prayaga

g-b

Cormrect Answer: Prayaga
=TT

Candidate Answer: Prayaga
T

QID : 145 - Which Delhi Sultan introduced "token’ currency somewhat like present day paper cumrency?

TRl o forer s A - e o ATt wEr Ay Eree e e i
Options:

1) Alauddin Khilji

aorrdr Fererr

2) Ghiyacuddin Tughlag

T

e e
3) Muhammad bin Tughlag
4) Bahlul Lodi
s
Comrect Answer: Muhammad bin Tughlag
e frr e
Candid

AT faert

: in Khilji

QID : 146 - In which city, the Bagh h d?

AAfFrate A g e s & g ew?



Options:
1) Nagpur

AT
2) Delhi

3) Calcutta

FErEET

4) Amritsar

Rl b

Comect Answer: Anritsar

Bl LA

Candidate Answer: Amritsar
ek iakind

QID : 147 - The Partition of Bengal was cancelled in which year?

=T w7 P fer ot 7 o o B e e
Options:

1) 1906

2) 1909

3) 1911

4) 1913
Comrect Answer: 1911
Candidate Answer: 1911

QID : 148 - Which was the most important centre of 'Tamdani' weaving in mediev al India?

WA AT W AT AT T e A fw S A ar?
Options:

1) Dacca, Bengal

2) Lahore, Punjab

g, S

3) Meerut, United Province

e vt

4) No Qption is comect.

witd e ot =i &

Comect Answer: Dacca, Bengal
T, s

Candidate Answer: Dacca, Bengal
ATEET, T

QID : 149 - The Frarthana Samaj was a reform movement within which religion?

AT AV T 0 I AT v T ey A
Optlions:
1) Jainism
g
2) Islam
bt L
3) Hinduism
o
4) Buddhism
Az et
Correct Answer: Hinduism

i

ot

QID : 150 - The main land of India extends | longitudes 68°7'E and

A fr g T a7 g wArw A g



Options:

1) 697" W

68°7' 7

2)37%6'E

3/9'

3) 97925 E

97928" g

4) 23%30W

23930 %

Cormrect Answer: 97925 E
97°28' g

Candidate Answer: 97725 E
97°25 g

QID : 151 - With which country India does not shares land boundary in the north?

AR F7 =91 F v T W e AT AT A T 17

Options:
1) China
T

2) Nepal
FreT

3) Bhutan
T

4) Myanmar
T

Correct Answer: Myanmar

Candid. A + My

QID : 152 - The part of the Himalayas lying between Tista and Dihang rivers is known as Himalayas.

A =4 Frgim afE=i & iy P Rwmrs s e, Rorern & = 3 @ e g
Options:

1) Assam

ELL Y

Z)Kf.lmaon

T

3) Punjab

AT

4) Kashmir and Himachal
wodtT AT T
Correct Answer: Accam
T

Candidate Answer: Assam
A

QID : 153 - The Punjab Plains of the northern India is dominated by the

Een et e ok AT
Options:

1) Duns

o

2) Passes

=T

3) Doabs

Srareit

4) Granite

T

Correct Answer: Doabs
=rarar

Candidate Answer: Duns

QID : 154 - Due to which physical feature, India experiences comparatively milder winters as compared to Central Asia?



Options:
1) The Himalayan Mountains

e
2) The Peninsular Plateau
i wETT
3) The Northem Plains
T T
4) The Cnastal Plains
T e
Comrect : The Himal Mo
e T
‘Candi : The Hil yan Mc
e T

QID : 155 - Bambay-High is known for its deposits.
At grE AT e F v s A

Options:

1) Coal

Sl

2) Diamond

#r

3) Petroleum

i

4) Iron

T

Cormrect Answer: Petroleum
b

Candid:

QID : 156 - The coil of an electric room heater & called afan _

oy e T e fr ekt (Wem) W wmwen
Options:

1) Filament

7 (Fremsiz)

4) Spring
o

Comect Answer: Element
P

Candidate Answer: Flament

7 ()

QID : 157 - Which type of wave is priduvad In a Guitar wire?
arAdt (Frr) & = % fier wre o s sore g E7
Oplions:

1) Longitudinal

kil

2) Transverse

b il

3) Surface

b

4) Static

T

Correct Answer: Transverse

QID : 158 - Transparent objects are the objects through which we
ol Y PR ETT RN AT



Options:

1) Cannot see at all
fregr o Ty E

2) Can see clearly
Y WA AT Y

3) Can see, but not very clearly
oy WA §, FITEA A e w A AT
4) No aption is emect

Comect Answer: Can see clearly
Ty T ¥

Candidate Answer; Can see clearly
E e AT AT

QID : 159 - Diseases like dysentery and malaria are caused by e

ooy mar wAtrar Ao et wrwEet E
Options:

1) Viruses

g

2) Bacteria

3) Protozoa

T (HrETAT)

4) Fungi

b

Cormrect Answer: Protozoa
Tt (AT
Candidate Answer: Fungi
Y

QID : 160 - The process of taking in of air rich in oxygen into the body i called i

AR T g B o0 § o A b TEAT F
Options:

1) Inhalation

P

2) Exhalation

Broamr

3) Flotation

TEEA

4) Exploration

A=y

Comect Answer: Inhalation
T

Candidate Answer: Inhalation
I

QID : 161 - Generally, oxides of ______ are acidic in nature.

WEEE ¥ ATeTRE A T AT g
Oplions:

1) Metals

b §

2) Non-melals

iy

3) Both metals and non-metals
AT AT T FA

4) Neither metals nor non-metals
7 AT T A

Correct Answer: Non-metals
T

Candidate Answer: Metak

arg

QID : 162 - Phosphorus is stored in which among the following to prevent its contact from atmospheric oxygen?
AT At # A Fr T ¥ o e o, Frefefee & & R iy v w87



Options:

1) Kerosene

e

2) Petroleum

e

3) Water

A

4) Aqua Regia

arverrrar (T FrimaT)
Comect Answer: Waber
T

Candidate Answer; Water
T

QID : 1632 - Which among the foll ara the ial i for prod fira?

1. Fuel
IL Air
IIL. Heat

Fraferfr # 7 v wfir == & B afart arrerard 32

1L &

IL =

IIL it

Options:

1) Only I and 11T

e 1 AT I

Z) Only 11 and 111

ToyeT 1L A L

3) Only [ and II

Faer [ 1T

4)1,[Tand I

I II =ar OI

Correct Answer: [, I and III
I I =rar 11

Candidate Answer: Only I and II
Faer I Far 11

QID : 164 - The water found below the water table is called e

fraFrEr ¥ T AR AT sgeEr

Options:
1) Aquifer

A
2) Groundwater

AT
3) Infiltrate

4) Ta; water

= w7 T

Comrect Answer: Groundwaler
AT

Candidate Answer: Infiltrate
e

QID : 165 - The branches of the tall trees look like a roof over the other plants in the forest. This is called as n

=3 F it orare S =y i F o a g R e d o FErATT
Options:

1) Canopy

e ()

2) Crown

A

3) Umbrelia

AT

4) Cover

ST

Comrect Answer: Canopy



Candidate Answer: Canopy
= (AAredt)

QID : 166 - Which organisation has been given the sole privilege to operate the Pradhan Mantri Vaya Vandana Yojana (PMVVY)?

Options:

1) Life Insurance Corporation (LIC) of India

AT HreT AT e

2) General Insurance Corporation (GIC) of India

T smare e e

3) National Insurance Company Ltd.

ureer ey ST Pl

4) Oriental Insurance Company Ltd.

Comect A < Life I e Corp ion (LIC) of India
Tt S o B

C s Life & Corporation (LIC) of India
AT s s Fe

QID : 167 - Which state Government has approved a revised policy for the "Majhi Kanya Bhagyashree" scheme?
firT T AT A AT A= AR g ¥ P e A s e e

ions:
1) Jharkhand
wTaT
2) Madhya Pradesh
e T
3) Maharashtra

hicu -2

4) Rajasthan

T

Correct Answer: Maharashtra
T

Candidate Answer: Jharkhand
ArET

QID : 168 - The SI unit of which fundamental physical quantity will get n=~ m#*.sure set by value of Planck constant from 20197

foer wirfery wifeee W o verTE SRS WT 2019 F ww v i ffi we | eadTr A e feme
Options:

1) Length

T

2) Time

™T

3) Mass

TETHTT

4) Luminous Intensity
ifer Hmar

Comrect Answer: Mass
A

Candidale Answer: Luminous Intensity
Sifer e

QID : 169 - On October 19, 2017, which space agency has approved second extension of its Dawn Mission at Ceres Dwarf planet?

19 swzar 2017, w1 frm st ot & o o o o7 o afiem oy B wragft R i
Options:

1) Space X

=T T

2) NASA

A

3) ISRO

e

4)CNSA

wfrersrerere

Correct Answer: NASA
e



QID : 170 - MC Mary Kom has won Gold in Asian Boxing Championship 2017 in which weight category (in kg)?

Py s =T (e om, ) & oot &5 o ofemre g St 2017 o e e o i
Options:

1)56

2)52

3)48

4)45
Cormrect Answer: 48
Candidale Answer: 48

QID : 171 - Who is the winner of 2017 Belgian Formula 1 Grand Prix?

2017 #fsrre e 1 o B & B fm 7
Options:

1) Lewis Hamilton

e

2) Nico Rosberg

v 71

3) Sebastian Vetts|

4) Kimi Raikonen
Correct Answer: Lewis Hamilton
T ffeee

Candidat 1 Lewis Hamilt
g i

QID : 172 - In September 2017, India will help in upgradation of a Wemen's Police Training Centre in its which neighbouring country?

P 2017 &, e s fer et r & o wfew e sfirrer F= F e & wes
Options:

1) Bangladesh

aTETET

2) Bhutan

Eau
3) Myanmar
AT
4)Sri Lanka
e

Comrect Answer: Myanmar
=T

Candidate Answer: Sr Lanka
frerer

QID : 173 - India has gifted an Offshore Patrol Vessel named Suraksha to its which neighbouring country?

AT A S T A or T o Ay o v wRrameeft sy ot Sy o few 87
Options:

1) Maldives

W

2) Bangladesh

aiTETET

3) Myanmar

i a1an

4) &ri Lanka

e

Cormrect Answer: 51l Lanka
frerrT

Candidate Answer: Maldives
skt

QID : 174 - Former Union Minister Ashwani Kumar was conferred with which country's imperial decoration ‘Order of the Rising Sun'?

T Wy wrefr sffarfr e W fer S of smft e st st T e v v e e o



Options:
1) Malaysia

i
2) Afghanistan
SEATE

3) Japan

AT

4) Russia

T

Comect Answer: Japan
T

Candidale Answer: Japan
AT

QID : 175 - Who has been awarded with Tata L Lifetime Achi Award 20177

=r=r e ememeTes w=frEE rE 2017 # B e e o @2
Options:

1) Kiran Nagarkar

Tty Arerese

2) Girish Kamad

frfyo v

3) Amit Chaudhuri

= =T

4) Namita Gokhale

Aftrr

Cormrect Answer: Girish Karnad
frfror vt

Candidate Answer: Kiran Nagarkar
Frr A

QID : 176 - Who is the head of the task force set up by RBI on Public Credit Registry on O-tehe, 173, 20177

areratAT s it o 23 seE, 2017 w5 Areet P @ g el e w9 w spa e R
Options:

1) Sharad Sharma

o AT

2) Rakesh Shah

TIEST 9T

3) YM Deosthalee

4) Vishaka Mulya

v g

Comect Answer: YM Decsthalee
c + YM D

AT, TR, TR

QID : 177 - With 6% growth India wil surpass which country as Asia's fastest growing cil market by 20187
2018 =¥, 6% FFrermer =v & Wy Qe foer Fr ST Ui § e ST O A S AT F = ey wre e
Oplions:

1) Japan

bl

2) China

i

3) Indonesia

TEAfEET

4) Singapore

T

Correct Answer: China

Siat

Candid: A = Tnd

QID : 178 - The Gandhi-Mandela Program on Grass Root Innovation was proposed in Durban on October 7, 2017 during ______ anniversary celebration of India-
South Africa strategic partnership.



Options:
1) 10t
=t

2) 15t
agdt
3) 20t
At
4) 25"
aefrerdi
Correct Answers 20
St

Candidate Answer: 20"
it

QID : 179 - On September 12, 2017 the Union Cabinet gave its approval for a Memorandum of Unds ding b India and A
field of _ .

12 Frmr 2017 w1 St Wi T S T T S T T AT & e e s F e s e i
Options:

1) Disaster Management

ATTET TR

2Z) science and technology

ooy AT A

3) Environmental pollution

Tt

4) Culture

i i

Correct A : Disaster M t

ATTET T

Candidate Answer: Science and technology

Forwrr r wfee

QID : 180 - Between which two places the Himachal Pradesh government has launched | ste’ s kind electric bus service?

fir =1 rarr ¥ oy Ry wer v & A A F el g e o oft 12
Oplions:
1) Kullu Manali and Rohtang Pass

AT TEATT T
2) Pathankot and Mandi
3) Mubarakpur and Hamirpur

v

4) Shimla and Nadaun
Fireer =ar T
Comredt Answer: Kullu Manali and Rohlang Pass
o] ST T g AT
Candidate Answer: Shimla and Nadaun
e T ey

QID : 181 - Which biodiversity-r. & = s habited islande part of Lakshad has di d in ber, 2017 due to coastal erccion?

Frr= 2017 &, w8 v ¥ wrer e b A e Ay A A g e e @2

options:
1) Bangaram
AT

2Z) Thinnalkava

Fersrere=T

3) Atoll

4) Parali

Tt

Cormrect Answer: Parali
L

Candidate Answer: Thinnalkava
=T

QID : 182 - Coins of which denominations were released on the 101%% Birth Ceremony of noted Carnatic Musician Dr M S Subbulakshmi?

in the



Options:

1)Rs 70 and Rs 50

70 =T 50 7

2)Rs 100 and Rs 10

100 77qT 107

3)Rs 150 and Rs 200

150 = 747 200 ¥

4)Rs 125 and Rs 175

128 7ar 175 =

Comrect Answer: Rs 100 and Rs 10
100 = w7 10 =

Candidate Answer: Rs 150 and Rs 200
150 = 74 200 =

QID : 1832 - Who has been appointad to Financial Stability Advisory Board or the Bank of jonal Satth on

15w, 2017 w1 Frefrer fearar smeer = o deed wemvine & i P e B R e i
Ooptions:

1) Urjit. Patel

A ade

2) Rakesh Mohan

TR

3) Nitin Desal

Fafee Foms

4) Amit Mitra

e o

Cormrect Answer: Urjit Patel

Férer wer

Candidate Answer: Rakesh Mohan

QID : 184 - Autonomy of which region of Spain was suspended in October, 2017 as the ragion's leader th i to declare i

15, 20177

a?

FFzaT 2017 5 w0 F T o F wroren ©F Feta v Ry oy av iy a9 F A wEsen 9 s i wwdt 5 47
Options:

1) Catalonia

‘et

2) Galicia

et

3) Aragon

AT
4) Cantabria
Forftem

Comect Answer: Catalonia
it

C Catal
T

QID : 185 - The fifth India-Sri Lanka joint tralning exercise Mitra Shakti, 2017 was organized recently in which city?

=T ST frerT A wrier srearer fier e, 2017 gver o e o & At e may e
Oplions:

1) Jalandhar

AT

2Z) Pune

T

3) Cochin
Lasiad

4) Varanasi
AL

Correct Answer: Pune
kil

Candidate Answer: Pune
b

QID : 186 - If x and y are even numbers, then which of the following is an odd number?

aiE ¥ Ty WE AT F, A i F T A o Frrw e 47



Options:

Lxy+1

2) X+ v+ Xy

3)x+ y+2

4)3x+y

Cormrect Answer: xy + 1
Candidate Answer: xy + 1

QID : 187 - How many times the digit 1 appears in the first 100 whole numbers?

TR 100 T FEATET ¥ A 1 e e e i
Options:

1)18

2)19

3)20

4)21

Correct Answer: 20

Candidate Answer: 20

QID : 188 - What is the value of (0.7) + (0.07)%?

(0.7) + (0.07)% =7 s 7 &7
Options:

1) 40.40

2)4.940

3) 0.4940

4) 0.049

Cormrect Answer: 0.1949

Candidate Answer: 4949

QID : 189 - How many positive factors of 2000 are there?
2000 ¥ P arreers e 2

Options:

1) 12

2)18

3)24

420

Comrect Answer: 20

Candidale Answer: 18

QID : 190 -

(27 + (23)" i

Whatis the value of (27) - 27 x 23+ (23)°

(27)° + (23)°
—~ ~ ol HAIF FT &7
(27 - 27 % 23+ (23] B
Options:
1) 50
2)4
3)30
4) 100
Comrect Answer: 50

Candidate Answer: 4

QID : 191 - If 40% of P's income is aqual tn 75% of Q's incoma, then Q's income is what parcant of P's incoma?

=it P ot arr wr 40%, Q FF arw w 75% W wrae ¥, A0 fF avr, P ofr arr wr feme o #7
Options:

1)61

2)53.33

3)45

4)48

B e e e



QID : 192 - Aand B have money in the ratio of 9: 5. If Agives Rs 10 to B, then the ratio of money will be 1: 1. Initially how much respective amount {in Rs) they
had?

AT BT IrT 9 ; 5 % S FwTier 1wt A, B W7 10 7 AT F, =TT 97 Seqaer 10 1 57 A wmod §, 3w e et wfer (v /) o
Options:

1) 45, 25

2) 35,25

3)60, 50

4) 70, 45

Cormrect Answer: 45, 25

Candidate Answer: 45, 25

QID : 193 - Average of 43, 21, 68, 97, 39 and x is 52. What is the value of x?

43, 21, 68, 97, 39 Ty x ¥ e 52 1 x ¥ WY W F?
Options:

1)38

2) 44

3)46

4)36

Candidate Answer: 44

QID : 194 - A retailer deposited some amount in the bank. The rate of interest for first 3 years is 6% per annur, "r the next 3 years rate of interest is 9% per
annum and for the period beyond 6 years rate of interest is 10% per annum. At the end of 9 years the retaile. =ce. =z Rs 650 as simple interest. How much
amount (in Rs) did he deposited?

s P & v i F g erfir s sl meer 3 A P s o 6% afEerd 3, s 3wt P s = 500 9t g o 6 d S spafr F e s = 10% afeed
#1 9 =f ¥ 3= %, P #1 1650 = wmarer swer & = avy §17 § wey fed wrfie (= W ww e e

Oplions:

1) 3000

2) 3200

3)2200

4) 2460

Comrect Answer: 2200

Candidale Answer; 3200

QID : 195 - Due to 20% rise in the price of sugar a man is able to purchasé . 'q less sugar for Rs 120, What is the increased price (in Rs) of sugar?

1 F e F 20% i AfE F F wrew, oF =i 120 7% 3 fom R oo o T i Sl amn o gew (W) v
Options: ' o

1) 6.66

2)8

3)10

4)12

Correct Answer: 8

Candidate Answer: 6.G0

QID : 196 - If a trader marks the price =fa, cles 60% more than their cost price and allows a discount of 30%, then what is his gain percent?

T T EET A TN T T E A 60% Wi s v & 30% FF g T &, A 3w mmy et o §?
Options:

1)12

2)15

3)10

4)20

Comrect Answer: 12

Candidate Answer: 12

QID : 197 - A triangle having perimeter 40 cm, one side 11 cm and difference of other two sides is 3 cm. What is the area (in cm?) of triangle?

e gy w7 afry 40 .0, §, v qe 11 e F e e S geat 8 s=e 39 d i ﬁwmﬁm(iﬂ.zi}wv
Options:

1) 1577

2) 12v35

3)17v5

4)6v31

Comect Answer: 1235



QID : 198 - Two trains P and Q start from stations X and Y towards each other. Trains take 5 hour and 4 hours 3 minutes to reach Y and X respectively after they
meet. Ifspeed of train P is 54 kmjhr, then what is the speed (in km/hr) of the train Q7

ST ORI P AT Q, T X AT Y 9 - o S ErAT ST AT F) T R TR F T Y Ay X ST A T H e 5 9 v 4 57 3 e o o ot
e FermmET P of w54 et e &, A e Q of it (e e ) e

Options:

1) 60

2)45

3)64

4) 48

Correct Answer: 60

Candidate Answer: 64

QID : 199 - The ratio of present ages of two boys is 5 : 7. After 4 years the ratio will be 7 : 9. What will be the ratio of their ages after 14 years from present?

=1 T A A AT A 5 7 f 4w A T A 7 09 F AT ST o 14 wd ars Tl A w7 S sy go?

Options:

1)6:0

2)5:8

3)7:8

467

Cormrect Answer: 6: 7

Candidate Answer: 7 : 8

QID : 200 - C, D and E together can complete a work in 12 days. Efficiency of C is twice that of D and efficies + o1 s th, _a that of D. How many days E alone will
take to complete this work?

C, D =av E foeres mo v ¥ 12 fomr % o w1 C FF arwAr O o ol & v £ o e O o Pepf 1 b weew e o v e # e e Ao
Options:

1)24

2)48

2)36

4)4

Correct Answer: 21

Candidate Answer: 36





